MPM1DR


Exam Review Answer Key

1. a) 16

b) –91/36

2. a) ( 4.359
b) undefined
c) –5

3. a) 5-1, 1/5
b) 3/2

c) 20, 1

d) 6561x16y5
4. a) 1/9x4y9, 16/9
b) 15

5. a) 29 
b) 24
6. 25cm

7. 27x3
8. 

	Polynomial
	Type (monomial, binomial, trinomial)
	Coefficient of the first term
	Constant
	Degree of the expression

	-2x2y + 3xy - 1
	trinomial
	-2
	-1
	3

	-mn3p
	monomial
	-1
	0
	5


9. a) 10x –2y –5
b) –2x2+ 4x –5

c) 5m2 –8m
d) 2/9a - 2/3b

10. p3 – 18p2 +23p –6, -132
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11. 

12. a) m = 5/4
b) m = -3
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13. m = -7/8

14. a) m = -4/3, b = 7 

b) (3,3), (-3, 11)

   {answers may vary}
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15. a) x-int = 6, y-int = -2
b) 

16. a) m = 3/5, b = -12/5
b) up to the right
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17. 

           Non-linear


Linear

18. a) y = -2x –5     b) y = -1/2x + 4
c) y = -2x –10
d) y = 1/4x + 3      e) y = 2x –17

19. m(KL) = 7/3, m(MN) = 5/2 ( not parallel


20. m(AC) = 1/2, m(BC) = -2 ( negative reciprocals, ABC is a right-triangle

21. a) x = -2
b) x = 3
       c) x = 11
  d) x = -28/9

22. a) PREC = 8x –2, AREC = 3x2 – x, PTRI= 3x + 3, ATRI = not enough  information

      b) length(rec) = 2, width(rec) = 1, sides of triangle = 2

23. a) c = (r –a)/ b
b) y = 3/2x + 2

24. Yes it is a solution

25. 

26. a) Esprit: C = 110n + 20, OWL: C = 100n + 50

      b) Esprit: 
OWL: 

c) 


                Number of people

d) Owl is cheaper.

e) They cost the same.

f) Choose Esprit is less than 3 people are going, choose OWL if more than 3 people are going. 

g) 8 people

h) no 

27. a) cost per week
b) Registration fee
c) $745
d) 4

28. a) the amount of peanuts
b) the amount of rockets    c) 2kg of peanuts, 3kg of rockets

29. a)
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30) John leaves his home and travels for 4 minutes for a distance of 10km (speed 2.5km/min). He stops at an intersection for 4 minutes. He continues traveling away from home at a slower speed for 7 minutes for 4.5 km (speed=0.64km/min). He then stops for 3 minutes while realizing he has gone too far. He turns arounf and continues traveling n the opposite direction for 4km in 4 minutes (speed=1km/min) until he arrives at the airport. 

31) a) x = 86(
b) a = 129(
c) y = 141(
d) a = 57(, b = 123(, c = 57(, d = 80(
      e) x = 61(, y = 119(
32) a) x = 25.4(, 4x = 101.7(, 2x –10 = 40.9(, x + 12 = 37.4( b) x = 29(, 3x = 87(, 2x –4 = 54(
33) a) 4680(
b) 167.14(
34) 20(
40)a) SA= 89.52cm2, V = 52.164cm3
b) SA = 205cm2, V= 140cm3
     c) SA = 76.4cm2, V = 50.0cm3
d) SA = 854.5mm2, V =1655.4mm3
     e) SA = 3216.00mm2, V = 17157.28mm3
41) a) x = 9.6cm
b) 16.97cm

42) P = 100m

43) w = 25m, l = 50m

44) 42cm

45) 12cm3

46) a) 14.1cm
b) 11742.1mL
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Solution is (2,5)
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b) on graph	c) answers may vary


d) sub 6.5 into your equation (answers may vary)


e) extrapolating/answers may vary


f) the level increases as the time increases








